BASE ELBOW OR TEE N 1 MSS REFERS TO THE MANUFACTURERS
SEE SCHEDULE A SCHEDULE A SCHEDULE € EXPANSION ANCHOR BOLTS — T BUSHING AS REQUIRED STANDARDIZATION SOGIETY OF THE VALVE
AS REQUIRED AND FITTINGS INDUSTRY, STANDARD PRACTICE
BASE ELBOW (TEE) (DIM IN INCHES) SUPPORT RODS AND BRACKET SPACING SP—58 AND SP—69.
(FOR STANDARD WEIGHT PIPE) . DOUBLE NUTS REQUIRED 2 PIPE WALL SUPPORT AND PIPE SUPPORT RACK
PIPE SIZE A B ¢ D INIVON == 2 PIPE SUPPORTS SHALL BE ASSEMBLED WITH CHANNEL FRAMES
DIA x L6 R0 0 (NGHES) MAX SPAN IN FEET (SEE NOTE 8) WELDED STEEL BRACKET — AND ACCESSORIES AS MANUFACTURED BY
3 112 | 5 47/8 | 1/2x5 PIPE SIZE BACK PLATE MSS TYPE 32 OR 33, UNISTRUT CORP, OR VERSABAR CORP, OR EQUAL.
L _ (INCHES) (INCHES) PROCESS | STEEL AR | copper | piastic | ster |PIP(SEE SIZE AND SPACING AS REQD 3 FABRICATED PIPE SUPPORT MAY BE USED AS
PIPING PIPING NOTE 7) 3/4" ssT SHOWN IN PIPE SUPPORT RACK DETAIL, OR TO
4 2 6 |51/2| 5/8x5 SUPPORT PIPE FROM THE FLOOR.
© UP TO 1 SEE NOTE 4 3/8 3/8 5 5 6 - BACK PLATE. SEE SCH B 4 BACK PLATES SHALL BE DESIGNED BY THE
R 5-6 21/2 | 7 VARIES | 5/8 x 5 ' = CONTRACTOR ACCORDING TO WALL TYPES AND
MACHINE BOLTS — SAME 11/4-2 ' 3/8 3/8 8 5 10 - THE WEIGHTS INVOLVED. BACK PLATE TO BE
‘ ‘ e calcHOR BoLTS 8-10 4 9 | VARES | 5/8x5 21/2-31/2 . 3/8 3/8 8 5 12 6 ggg;;’gg%%}f"cm A9 5 PIPE HANGERS, SUPPORTS AND ARAGKETS ARE
81| LENGTH AS REQD BY FLANGES) 12-16 6 1M | VARES | 3/4x6 4-5 . 1/2 3/8 - 5 14 8 3/4" GLOBE VALVE CENERAL DETALS. THE CONTRACTOR SHALL
5 . 5/8 3/8 _ 5 15 9 r== — DESIGN THE SUPPORT SYSTEM BASED ON ACTUAL
a SUPPORT PIPE — SEE 18-24 8 [131/2 | VARES | 3/4x8 / / [+ ADJUSTABLE WROUGHT . WEIGHTS AND CONDITIONS AS SPECIFIED OR AS
g SCHEDULE A 8-12 . 3/4 1/2 - 5 15 9 ? CLEVIS, MSS TYPE 1 3/4" STD HOSE THREAD SHOWN ON THE CONTRACT DRAWINGS. THE PIPE
= 30 10 16 23 7/8 %7 y y SUPPORTS SHOWN AND REFERENCED UNDER
14-16 . 7/8 1/2 - 5 15 9 . = SCHEDULES A, B & C ARE DESIGNED AND
%fﬁs:gé DMé%ﬂR sﬁglﬁga . ® 2 " % ex 7 ™~ m DETAILED FOR GRAVITY LOADING ONLY. RESULTING
18 . 1 1/2 - 5 18 10 CARRIER PIPE, SEE ! LATERAL LOADS FROM CONSTRUCTION
SEE SCHEDULE A) SCH C AND NOTE 5 3/4" HOSE VACUUM
BREAKER CONNECTION CONDITIONS, DESIGN SEISMIC EVENT OR OTHER
. SCHEDULE B 20-24 : 1174 5/8 - 5 18 10 RELATED CONDITIONS SHALL BE APPLIED TO THE
1" NONSHRINK GROUT HOSE BIBB PIPE AND OTHER NON-STRUCTURAL COMPONENTS
_ IN ACCORDANCE WITH THE GOVERNING BUILDING
ADJUSTABLE SADDLE (DIM IN INCHES) 1509412 1511500 CODE. SUPPLEMENTAL LATERAL STIFFNESS,
D RESISTANCE AND MEMBERS (WHEN NECESSARY)
PIPESZE | A 8 ¢ | baxis PIPE SUPPORT BRACKET SHALL BE PROVIDED ALONG PIPE OR AT GRAVITY
SUPPORTS AND CONNECTIONS WHEN REQUIRED BY
3 21/2 7 | 11/2| 5/8x5 CARRIER PIPE—SEE 1509407 CALCULATIONS. THE CONTRACTOR SHALL INCLUDE
B SCHEDULE C AND NOTE 5 EXPANSION ANCHOR BOLT DESIGN CALCULATIONS AND DETAILS WITH ALL
4-12 3 712 | 21/2| 5/8x5 AS REQUIRED PIPE HANGAR AND SUPPORT SUBMISSIONS FOR
REVIEW BY THE ENGINEER. THE MAIN STRUCTURE
BASE ELBOW (TEE) 1415 4 9 3 5/6 x 5 AND STRUCTURAL COMPONENTS THAT WILL
_BOLT. WSS TYPE 2. CAST IRON BRACKET
U-BOLT, M 4 SEE SCHEDULE © AND SUPPORT THE PIPE HANGARS AND OTHER
1620 s 1 |31/2] 3/4x6 NOTE 5 APPURTENANT COMPONENTS OF THE FACIITY
1509400 SCHEDULE D HAVE BEEN DESIGNED TO RESIST ALL RESULTING
SECONDARY LATERAL LOADING FROM
24-36 6 n 4 3/4x6 WELDED STEEL BRACKET SUPPORT ROD TRAPEZE SUPPORT (DIM IN INCHES) NON—STRUCTURAL MEMBERS FOR GRAVITY AND
MSS TYPE 32 OR 33, (LENGTH AS REQD) LATERAL LOADS.
| SIZE AND SPACING AS REQD SEE SCHEDULE C AND STEEL TUBE VINIMUM BASE PLATE | WELD MAX SUPPORT SPACING & ALL INSULATED PIPES SHALL USE A SHIELD
1509401 NOTE 5 PIPE | SUPPORT ROD ¢ (INCHES) HASHER xp ANCHOR | N FEET (SEE NOTE 8) (SS TYPE 40) WTH THE APPLICABLE PIPE
SIZE BEAM x .
CARRIER PIPE SEE CARRIER PIPE VERT x HOR | TROCESS | STEEL AR alB|c|oD PROCESS | STEEL AR ¥ MINIMUM OF ONE HANGER PER PIPE SECTION,
SCHEDULE B BACK PLATE, SEE SCH € ADJUSTABLE WROUGHT CLOSE TO JOINT, ON THE BARREL. ALSO AT
- BAND HANGER, WSS 1214 | 4x3/8 172 172 | 4xad/a | 1 |10 | 3/8 |3/16] 1/2x4 10 15 CHANGE IN DIECTION AND BRANCH
VARIES ACCORDING TO e EXPANSION ANCHOR BOLTS TYPE 7 16-24 4x4x3/8 3/4 5/8 4x4x3/8 | 1 | 10 [ 1/2 [3/18 5/8 x 5 10 15 RODS AND SPACING ARE BASED ON STANDARD
' e | —— WEIGHT MATERIALS ACCORDING TO MSS SP—69.
PP Af'igaff\sm%)‘* 1/2 AS REQUIRED 30-36 | 6x4x3/8 1 34 | 44x1/2 | 2 [12|1/2]|1/4] 3/4x6 10 20 AND ARE FOR REFERENCE ONLY. THE CONTR
PIPE HANGER FOR PIPE CARRIER PIPE SEE 42 6x4x3/8 11/4 3/4 5x5x1/2 | 2 |12 | 3/4|1/4 7/8 X6 10 25 ZF(‘)QIISII_H%ZQCE HIS HANGERS BASED ON ACTUAL
a ADJUSTABLE SADDLE 11/4" AND SMALLER . SCHEDULE C AND 48 8x4x3/8 11/2 1 5x6x3/4 | 2 |12 | 1 |1/4 1X7 10 30 REFER TO THE APPROPRIATE AND RELATED
WITH SUPPORT PIPE, MSS 7" MAX NOTE 5
= ) . SPECIFICATION SECTIONS AND DRAWINGS OF THE
S (TYPE 38, SEE SCHEDULE)B PIPE SUPPORT BRACKET 4 MN & A 8 CONTRACT DOCUMENTS REGARDING
MSS TYPE 37, AS REQD, CAST-IN—PLACE CONCRETE SUPPLEMENTAL DESIGN REQUIREMENTS RELATING
EXPANSION ANCHOR BOLT - 1509404 EXP ANCHOR X (59 | " (0 NoT ATTACH T0 TO PERFORMANCE SUBMISSIONS BY CONTRACTOR.
~— 4 EACH PLATE 1 - T i ALL NON-STRUCTURAL COMPONENTS, INCLUDING
(D) (2 REQD EA SUPPORT- L PIPE SUPPORT BRACKET (SEE SCHEDULE D) B A | R :';f,%’:,%”g’f'gﬁé,’ﬁ%f‘)s PIPING, HVAC DUCT, PLUMBING AND ELECTRICAL
SEE SCHEDULE B) M ¢ ol CONDUIT SUPPORT SYSTEMS SHALL BE
L 1509406 ADEQUATELY DESIGNED AND INSTALLED UTILZING
e 5/16'x2" EXPANSION l#l\f SUFFICIENT CONNECTIONS AND MEMBERS TO
KR ANCHOR BOLT WELDED BEAM_ATTACHMENT, ACCOMMODATE AND RESIST THE DESIGN LATERAL
. P 5 TYPICAL MSS TYPE 22 FORCES ASSOCIATED WITH A SPECIFIC
B 1" NONSHRINK GROUT * COMPONENT'S DYNAMIC INERTIA DURING THE
DESIGN SEISMIC EVENT. REFER TO THE CODE
WALL HANGER PIPE SUPPORT FLANGE 0D /2 PPE O SUPPORT ROD, TYP /\’ RS STEEL TUBE SUPPORT COMPLIANCE DRAWING FOR STRUCTURAL DESIGN
LENGTH AS RE - INFORMATION FOR SPECIFIC SEISMIC DESIGN
ADJUSTABLE SADDLE 1509403 PIPE 0D SUPPORT PLATE 0 A BEAM, LONG DIM VERTICAL CRITERIA.
3/8"PIPE OD (SEE SCHEDULE D) (SEE SCHEDULE D)
1509405 . Qr o 3‘2-'”- PLATE FABRICATED PPE -~ &
. 4
S W e, & S TR usm e e 1509411
! o (¢ PIPE FLANGE-BOLT TO STIFFENER PLATE SUPPORT BEAM PIPE DIA + 12° 4 3 (PosT)
3L QO O FLANGE WITH LONGER BOLTS ?{B’;Eé D1)3/16' DOVBLE NUTS. TYP 11/2° YARD HYDRANT AS
} )
NP e e st . TRAPEZE SUPPORT ™
' STIFFENER
INSULATED PIPE WITH NOTE 2 g | —— 3/8" STIFFENERS (4 REQD) SOLE PLATE
EXPANSION ANCHOR MSS TYPE 39 PIPE s , 1/2"%4"xPIPE OD 1509413
- BOLTS AS REQUIRED sggo#sp EOROADSABIEENDT TEMP, PPE CLAWP. TP T 1) /Dzw|1D1-Euc»<B8 IjT/?TOFI_thgER SEE NOTE 3 —
- M 40 SHIEL ﬁ ] \ .
L FOR COLD TEMP VERSABAR 1000 : OR WALL WITH 1/2° S8 HYDRANT L 11/2" AMERICAN NATIONAL
‘7' CLAWP SERIES, UNISTRUT ANCHOR BOLTS. (4 REQD) HOUSING | STRAIGHT THREAD .
P1000 SERIES OR 13 | 1/3 | 1/3 1/3 00 N HOSE CONNECTION ©
EQUAL SEE NOTE 2 e |
CHANNEL FRAME PIPE ROLL, MSS TYPE 44 —~ FLANGE OD+2" 1" NON SHRINK GROUT PIPE 0D L7l sty
NN
" P SUPRORT FABRICATED PIPE SUPPORT . -
SEE DETALS THIS FABRICATED PIPE SUPPORT (AT PIPE) STEM GUIDE SPACING SHALL BE PER ik
CARRIER PIPE e SHEET AS REQUIRED AT FLANGE MUD VALVE MFR RECOMMENDATION i W
EXPANSION ANCHOR L \ ' ( ) 1509410 WITH ONE GUIDE WITHIN 24 INCHES ! g
BOLTS AS REQUIRED 90" FITTING, TYP OF TOW. A MINIMUM OF TWO | hd
, GUIDES PER INSTALLATION: I t
PIPE CLAMP SEE NOTE 2 1509409 1] MUD VALVE, SIZE AS !
= PIPE HANGER AND %"ﬁﬁé ’:«?Théf'z 7 N REQD. SEE PLANS.
ROD MSS TYPE 5- ' FLANGEXCOLLARXPLAIN
SEE NOTE 5 AND - END WALL PIPE WITH FILL BLOCK—OUT AREA oo 1/4 CU YD CRUSHED
SCHEDULE C ECCENTRC 2* PLUG VALVE TAPPED FLANGE %;&01% ﬁmz ESETHNG oone gm‘\ggk HYDRANT
POST BASE SEE REDUCING FLANGE . AL .
PIPE WALL SUPPORT AND SUPPORT RACK NEW OR EXIST CONCRETE —] NOTE 2 2* PLUG VALVE 2" 1.D. NATIONAL STD
SHALL BE ASSEMBLED W/ CHANNEL FRAMES Ll 1" NONSHRINK GROUT AT PIPE INVERT THREADED MALE VALVE HOUSING
AND ACCESSORIES AS MANUFACTURED BY QUICK COUPLER
UNISTRUT CORP OR EQUAL Tn 2" 1.D. NATIONAL STD
THREADED MALE
QUICK COUPLER 2" THREADED
PIPE WALL SUPPORT NFPLE
1509402 TYPE | TYPE Il YARD HYDRANT
PIPE SUPPORT RACK FLUSHING CONNECTIONS MUD VALVE INSTALLATION 1511502R
DESIGNED H&S THE SCALE BAR |DATE JULY 2003
THIS DOCUMENT ORIGINALLY ISSUED RECORD DRAWING CI l Y OF ROANOKE SHOWN BELOW |y & s JoB
DRAWN H&S FOR CONSTRUCTION AND SEALED BY VIRGINIA MEASURES ONE | NUMBER 30788A
CHECKED ROBERT S. DIFIORE, SEAL NO. 22769 THIS DRAWING HAS BEEN MODIFIED TO REFLECT FIELD ZEN AND A‘VYER MISCELLANEOUS STANDARD DETAILS INCH LONG ON [ oo T
- CHANGES REPORTED BY THE CONTRACTOR OR ANOTHER
REggﬁsDTgEém)':fs m; gggi :ﬂ H&sS PARTY, BUT NOT VERIFIED BY THE CERTIFYING ENGINEER. Environmental Engineers & Scientists THE ORIGINAL NUMBER NUMBER
PROJ. ENGR.— > | THIS DOCUMENT ORIGINALLY ISSUED THIS DOCUMENT ORIGINALLY ISSUED AND SEALED BY 4011 WesiChase Bivd, Raleigh, North Carolina 27607 REGIONAL WATER POLLUTION CONTROL PLANT DRAWING. A D13
REGULATORY APPROVAL NOV 2003] RLT FOR CONSTRUCTION AND SEALED BY DAVID A. NAILOR, 025465. THIS MEDIA SHALL NOT BE : '
PRELIMINARY DESIGN NOV 2002 | RLT RONALD L. TAYLOR, SEAL NO. 024649 CONSIDERED A CERTIFIED DOCUMENT. WET WEATHER IMPROVEMENTS —
NO. ISSUED FOR DATE | BY | APPROVED

DATE  08/04/02 5:12am FILE= H:\3

by RBATCHELOR =1

), 1500401, 1509402, 1508403, 1509404, 1509405, 1509406, 1509407, 1509408, 1508409, 1509410, 1509411, 1509412, 1509413, 1510401, 1511500, 1511501, 1511502, MISC\3O786tb,




